


Present continuous
A:  Underline all the verbs.
a) Panbanisha is lying on the sofa.
b) The scientist is putting her finger on a symbol.
c) Panbanisha is taking a walk in the forest.
d) Some scientists are sitting next to Panbanisha.
e) Panbanisha is eating something.
f) The scientist is looking at Panbanisha. 

[bookmark: _GoBack]B: Make negative sentences.
a) Panbanisha isn’t lying on the sofa. 
b) _______________________________________________________
c) _______________________________________________________
d) _______________________________________________________
e) _______________________________________________________
f) _______________________________________________________

C: Make questions
a) Is Panbanisha lying on the sofa?
b) _______________________________________________________
c) _______________________________________________________
d) _______________________________________________________
e) _______________________________________________________
f) _______________________________________________________

Solution:
The scientist isn’t putting….		Is the scientist putting her fingers…?
Panbanisha isn’t taking a walk		Is Panbanisha talking a walk…?
Some scientists aren’t sitting next…	Are some scientists sitting next…?
Panbanisha isn’t eating….		Is Panbanisha eating….?
The scientist isn’t looking….		Is the scientist looking….?
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